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(i,

a*yw affi*qdrfiquw t airwt t

All Questions are compulsory and each question is of 1 mark.

qlit qwql C sl;dr6l+ q7 fufn t dnat argna? cm t t

Only English version is valid in case of dffirence in both the hnguages.

1. ordr-srf{ kq*r fr 6it t
(a) g+-o Gf*I, qs n q*I

O) do4*I,qi5'nEf{it
(c) (E[-o <i*I, i zr tf*f

(d) doE-*t,fr76q*1

\1+. \dr *. wg il 6r& q{qpJdt +t
{qr zs t d Erfitfi qqqruJdf +t rtqr

l. Carbon-carbon double bond consists
of
(a) one o bond, one zr bond

O) two o bonds, one n bond

(c) one o bond, two ir bonds

(d) two o bonds, two z bonds

An alkane has 75 carbon atoms in its
molecule, the number of hydrogen
atom will be

(a) 1s0

o) 148

(c) 1s2
(d) 146

Which of the following cannot
exhibit isomerism ?

2. 2.

3.

drfr
(a) 1s0

(b) 148

(c) tsz
(d) 146

fuaftf€( { t qil{
mTmT er tr
(a) CrHr

(c) CsHrz

{rqFr.Frdt rffird

(b) cuH,,

(d) c+Hro

3.

(a) CrHa

(c) CrH,,

(b) coH,o

(d) coHro

P.T.O.

)a 2



CII2O5 (?',)

ffiiidat
(a) tO*r{c
(b) 5 6dq
(c) ts orda

(d) zo urda

t+tf, *i rusoo *' qFT T {' s{i q{

mt+qr BflKsIkT alat t t
(a) \fr\rddrEs
O) \'fretr
(c) ffi{
(d) o-u{*ia

i{+, +t qr+ it fdc{fr-ffir +lq t T{6
rnr ca*w{d t?
(a) SOrNa

(b) - cooH
(c) - oH
(d) srtfi{*t

wT {tEflErqEril at {ryq d qiq TIT tFsFI

erss t r
(a) qf, {tIIlEFFrdr, {€{r qqrqqfl E5I

g+.r+nt r

O) Td {qrd{* q1 {5+<r {urq{* t
ffiqqrrftr+.qrqrrcrt t

(c) qFr IIqFrqErflI if qqqIUJ qffi
€f,{€TIitrrdt t

(d) qa t+ta{+ irr ttffit 3lfitr€
dvqt r

ffi +Yi"r+Ehtlqfu+t+Stz
(a) {ffi{
(b) w$q
(c) tir{
(d) srq-dfiss

Monoterpenes consists of
(a) i0 carbon

(b) 5 carbon

(c) 15 carbon

(d) 20 carbn

Which product is obtained when

Menthol is heated with KHSO. ?

(a) Acetaldehyde

(b) Acetone

(c) Menthane

(d) o-terPenal

The watsr-solubility of dyes can be

increased bY which grouP ?

(a) SOrNa

(b) - cooH
(c) - oH
(d) All of these

Which of the fotlowing statements is

false about tautomers ?

(a) Tautomers are

isomers

O) Tautomers zre sffuctural

isomers, which exist in dlnamic
equilibrium

(c) Tautomers involves mov€'firent

of atoms

(d) Tautomers have indePendent

existence

8. Colloids can be Purified bY which

method ?

(a) Condensation

(b) PePtization

(c) Coagulation

(d) DialYsis

4.4.

5.
5.

6.

7.
7.

structural

8.
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{6 6t{ m fu'tno+.sq5 t qi {tq sdr
,iwar *uta tt sqkra rcar t r
(a) \'Fhtra+r{a

(b) m'ako{rTt
(c) +H{vgd
(d) qfrcrrrseqa

+t+ m two rrqrqfr{+. t*'qr rru t* t
r+gsil Et-dr tt
(a) srdq tq*.
O) rere{ttro
(c) ffit!a-s
(d) Bqtffiiit+ttftT

fuqqtrqtlrmttt
(a) oRIIqIq +oq qrd dfrm

(b) T*tq d[r'o Hi \rr qT s{Frf
rtqtoJdi q+rdf 

r

(c) q#iq dfiroffi a6q 6T gs'cr
qftro qrqruJ ffi srq ittt rFI

dr
(d) s\tm ffif sq t oq qi flrn

qcqat 
r

tz. PsfeFm ii t st{ m sffi ersic t r
(a) uryfrstT{gqrrEr{*ifl+{ t t

(b) sr5fuo rrs 3Tedfr{ q6il+. t
e-+ +frt r

(c) Ilrffur tss si {e-{-5-fr fu'qr qr

sqnrt r

(d) qr$f,il+. tq-g l, 3-qers(a ot
qilrot 

r

10.

I

i
I

11.

(3) 2022

The functional group which always

present in the middle of carbon chain

is

(a) Alcohol group

(b) Carboxyl group

(c) Ketone goup
(d) Aldehyde Soup

Which dyes become linked to the

fibre by chernical reaction ?

(a) Acid dyes

(b) Direct dyes

(c) Disperse dyes

(d) None of these

Heterocyclic compounds or
heterocyclic are

(a) compounds containing unusual
.ings.

O) cyclic compounds in which one

or more of the atoms has an

unusual bonding pattern.

(c) cyclic compounds in which one

or more of the atoms of the ring
are hetero atoms.

(d) compounds containing at least

two different rings.

Which of the following statements is

not true ?

(a) Natural rubber is a hydrocarbon

(b) Natural rubber is made of
isoprene monomers.

(c) Natural rubber can be

vulcanized.

(d) Natural rubber is a polymer of
1,3-butadiene

9.

10.

11.

12.

P.T.O.
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13. dkfi errd cHr -
3{uJ llqfrtaS-{f,rt

OH
I

CH _ COOH 6

(a) qfirdq {rilqqErdT

(b) qd {FflErqfrf,t

(c) roftrrqqrqqqat
(d) rltrllErq6rdT

14. fiTqtdied if t tu+q qgmofl gqrflut

*tr sr tt
(a) <r{tr<- 6,6
(b) ifr{
(c)'f-dffi
(d) 3ffi{

15. w fldfte.' dnro. ffi sT'gln c48He4 t,
qadtrot*u Fslfu diofror tt
(a) \rmtt
(b) \,f"rdrfs
(c) \ri+,rfi
(d) \req

16. srt +rftodffi it 6rdr 5frsn r+dr
t
(a) 2 Er*I

(c) 3 {*I
(b) 4{*I
(d) s ;r*t

17. 2d{ mrr e-ge-+,t

(a) furrco dtrq-6o,r

O) trrd&ftret<or
(c) dtfrt+r
(d) qqfoqlqdf{ffi{d<rrs+r

18. {c'qq-+ qqrti ii qtqqri t
(a) qqn qrsrqFr*.'rJul

(b) trIFI oIUJ tl1q

(c) {qHri{{{rqd
(d) qqn ffqrtrs'sqr

(4) 2022

OH
I

Latic acid CHr - CH - COOH is a

molecule which shows

(a) Geometricalisomerism
(b) Tautomerism
(c) Optical isomerism

(d) Metamerism

Which of the following is an example

of a condensation PolYmer ?

(a) Nylon - 6, 6

O) Teflon
(c) PolypropYlene

(d) Orlon

The molecular formula of an organic

compound is CorH*. This comPound

belongs to which homologous

series ?

(a) Alkenes

O) Aldehydes
(c) Alkynes
(d) Alkanes

In stable organic compounds, carbon

will always form

(a) 2 bonds

(c) 3 bonds
O) 4 bonds

(d) 5 bonds

Teflon is an addition PolYmer of
(a) Vinyl chloride

(b) Tetrafluoroethl'len

(c) ChloroPrene

(d) Trimethyl silicon chloride

The isomers of a substance must have

(a) same chernical ProPerties

(b) snme molecular weight

(c) same structural formula

(d) same functional grouP

13.

14.

15.

16.

t7.

18.
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rg. qq{ilfud +d ttr 6r {Er+.rrr t
(a) EIIFI

(b) ffi
(c) +dTr

(d) 6{I

20. frFT-86 qgffii + ft{q +t+ ur $sH Trfl
tr
(a) t srqnomqr dr, rsqn q qftrq;

'ifdtt r

(b) t qr*rw"rcrqr Tfrlqq, tm$re 6c
t'Ur*it r

(c) t rnq vri.R vfru gercm Ei qrfr

tr
(d) Etgc, EFIrr[ EII v+ar t r

2t. re'*wns d +{ * g*.qs*,,uqF *tn
tz
(a) frffi-oH
(b) q{z{
(c) mreihsfuo €rR
(d) -C:C-lE{*r

zz. \'ffi{s f+.s r+n *. qEr{ t r
(a) 3rE*q
(b) s<rfr
(c) {r{Trqftffi

(d) qnfrctri'dFi-ff

23. \r.rqrcs kf,T{ sidr{e sund t
(a) A*{vqtPi
(b) t rq qEI{

(c) \rs ilfrc q qs Elq r(r{
(d) trottrqqqq'rqqq$

24. ++{ F6s rE'RrET qedrstz
(a) qmfrk{

O) filrtst{
(c) qffi
(d) sgtil

2022

Complernentary colour of blue colotu
absorbed is

(a) Red
(b) Purple
(c) Yellow
(d) Green

For thermosetting polymers which
statement is true ?

(a) They are usually hard, strong
and more brittle.

(b) They are usually soft, weak and

less brittle.

(c) They soften on heating readily.

(d) These can be reclaimed from
waste.

Which firnctional group is present in
triglycerides ?

(a) Alcoholic - OH

(b) Ester

(c) Carboxylic acid

(d) {=C-doublebond

Alkaloids are what t5pe of zubstances ?

(a) Acid
(b) Neutral
(c) Chemical
(d) Basic Nitrogenous

An emulsion in a colloidal systern of
(a) two solids

O) two liquids
(c) one gas and one solid
(d) one gas and one liquid

Coniine is which type of alkaloid ?
(a) Pyridine

O) Piperidine
(c) Quinoline
(d) lndole

(s)

19.

20.

21.

22.

23.

24.

P.T.O.



CH205

25. dFTE'S f{f,qii m,r qrft+,tur srt{lRm t
(a) sTrurtd{'3[rsR

(b) ordfr+,q qstdko
(c) YBirmrcH
(d) PHcl=I

26. C4HeOH 6',r ruPAC qFT t
(a) qy"frm

(b) =dr
(c) 6{crfi
(d) qHrowm

27. mrdl 6* qfl-{iH q*1 v.<rcr tz
(a) enqf+et{+r

O) rrrfr< q*t
(c) rra-rit*q+r
(d) rqriffii n +tTfi

zB. Frqfrfud ii t frt{ qr arffifuo-
Gqffi) st*€t?
(a) ffik{
(b) rreF{
(c) €d
(d) sqtnq$

zg. firefeko { t BYt {IT g.r effi-stc
tt
(a) -N: O

(b) - Noz

(c) -N:N-
(d) - oH

30. dcrr{ +r {r++ {* t
(a) CHr-C=CH
(b) CHr - CH: CH,

(c) CHr - CH2 - CH3

(d) CHz: CH - CH2 - CH:

2022

Colloidal solutions are classified on

the basis of
(a) Molecular size

(b) Organic and inorganic
(c) Surface tension value

(d) pH value

IUPAC name of C.HTOH is

(a) Butanol

(b) Butane

(c) Butyne

(d) Butanoic acid

Carbon forms which type of b6nd ?

(a) Ionicbond
(b) Hydrogor bond

(c) Covalent bond

(d) None of the above

Which of the following is a lyophobic
colloid ?

(a) Gelatine

O) Sulphur

(c) Starch

(d) All of the above

Which of the following is

auxochrome ?

(a) -N=O
(b) - No,
(c) -N:N-
(d) - oH

Structural formula of proPYne is

(a) CHr-Q=CH

O) CHr - CH: CH,

(c) CH: - CH2 - CH3

(d) CHz: CH - CH2 - CH:

(6)

25.

26.

27.

28.

29.

30.
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ic , (i) wrrrvrw siW t Piqf CCEt qfi{#nrdFild I

Note : Question No. I is compulsory, answer anyftve questionsfrom the remaining'

(ii) sdrrw#s,# qt'n +i'fiT4r{q,asrraladfuq t

Solve all parts of a question consecutively together'

(iii) Ydaswsi#?sdrnPr dfuq r

Start each question on afresh page.

(w) <ia) ryqr.") d erf,{di 41 fivfdd sfdE} qTartal qa { 1

Only Engtish version is valid in case of dffirence in both the langaages.

1. t{q+{q+ciiutr{kQ '

Answer the following in brief :

(i) sil{d {rRqft it srf{ EH €rn *ti t t
Where is carbon placed in the periodic Table ?

(ii) tqfirqwt t r ffi qir'tn {rfiTU*{H t

What are Dyes ? Give structural formula of any one'

(iii) cr?k+'trg i6t qrsrqf{+,'rrq ffi r

Write chernical name of Natural rubber.

(iv) 2-Butene \ni 2-penten" +tq fr {HIqqEriTI Wrid t t
Which tlpes of isomerism shown 2-butene and 2-pentene ?

(v) trcnso'sqrftlqfrqrsrkH r

Write definition of functional goup.

+tifrq{ d qrtr qd sqdrr or fqsn t qoia dffi r

Discuss in detail the impo4ance and application of colloids.

(7'

2.
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3. Eqtfirfrq rrurm{Fgilr t qr qqgi t r rqr6{ur ior srsrEi r

What do you understand by geometric isomerism ? Explain with exarnples. (12)

4. {#{swr t z rm, qrfs{urfss s-drrfuqr qmr t r
What are Alkaloids ? How are they classified ? $2)

5. tTET + IUPAC ;IIIT ffii :

Write IUPAC name of the following :

(a) \'**+
Acetone

O) \'St'+.qfus
Acetic Acid

(c) qafiroerra

Formic Acid
(d) qnttn{

Chloroforrr (3x4)

6. (i) rqtq{rf,r ii *td \d \rot5€ t*qrsoqW sr rft1ur fuu r+n t+qr qrat t r
How the Phenol and Alcohol functional groups are tested in laboratory ?

(ii) fi{Yndrd B"n ene G roluene +tqeqnNsrt'} z

How will you identiff Berzene and Toluene in laboratory ? (6+6)

7. frqcr{E{qitffi frfut' C6tt+)
Write short notes on the following : (Any two)

(i) furd{
Fennentation

(iD fzm}ltTlq
Tyndall effect

(iiO c{RrwT

osmosis @+4+4)

8. srg-+-rrfr q?i ffifiur d fudR t qrgrEe r

Explain the term Brownian Movement and peptization. (6+6)

(8)


